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GATITU SECONDARY SCHOOL, P.O. BOX 327 — 01030, GATUNDU.
FORM_4 MATHEMATICS P1 END OF TERM 1 EXAMINATION. 2014.

121/1 Mathematics Paper 1. Time: 2'/, hours.

Instructions to Candidates.

i)This Paper contains two sections A and B

ii)Answer all the questions in A and any five in B .

iii)Use fhe space provided below each question to answer the questions.

ivJAll working must be shown.

v)Slovenly work is highly penalized. .

vi)KNEC Mathematical tables and non-pfogrammable calculators (SILENT) may be used unless
where stated otherwise.

SECTION a A (50 marks)

1.Evaluate:- 0.64 " §1.69& <
(0.04) X 38.44 (4mks
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2. Given that log y=3;142 and log x =2.421 evaluatelog x*-% logy >  (4mks
' - 3 « L2) —~ 3 AU
M Losx _/‘fk_e:fgts #742 2) /(fvcb

| bl — 2.3S
A R3zile— 5/q_>< 2-42-) Q b 2:55F

12.sbg—1- €1 b -;7,,:5;}7, :
=\0-7S%
~ N

Powere&i By: www.manyamfranchise.com

AN

M

SR SRS




3. The scale ofa map is 1:125,000. What is tile actual distance in kilometres

16.8cm on the map?
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4. Aline L isperpendicular to the line y =3x. If the line

(0, 4) Find:
a)the gradient of L

) Ci= 2

c‘! = -\

et
-4 -

b)the equation of L

3——'4' :‘g?c
y=kx T

//\

represented by
(3mks

passes through point

(Imk
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5.A Kite whose verticles are P(0,8) Q(3,3), R(0,1) and S(-3,3) is rotated about the origin
through 180°. Find the co-ordinates of its image.

(9)-2)=rles>
(5)6)-8 5>
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6. Fact'orise completely :
a)2x?-32 , , d2MKs )

A= b

j{tyf—’f“—f) L’C LA}

(3mks

B)t + 8t7 + 12t
Lt +9t+\2,>
k+\9t"1\'+'1

t ert) ~Lkrt)

gl [++2)

7.Solve the following inequalities an

12— 75 L2X-2

d illustrate your answer on a number line.  (4mks

\ 222 S
2 -5 = 7~

=&
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7 < 27¢
22"C
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8. Evaluate log; 12.89 leaving your answer

1289 =3
S

3—

9.

3/,

correct to four significant figures.

) b

v—

-

- 2% = 1.519

10.Without using calculator evaluate

1o - g 214 3, of 3% + 3%,
5 3 ' 9 |
- = 2, 3 '5b
/;/dé’.}l~+97 TL‘L a1
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7 M e 27t
10 = _72-36 =7 —
> T2
N4 = 3
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11.  The figure below is a cone with the vertex at A and diameter BC. The cone is tut off

along DE ,\\A
l "\ éC_m
a)Find the base radius of thecone AD E (3mks
y -~ ’ . ‘
15 - (F-\) / Lﬂi& - >C
13
228 — 20-25
- 2 — |
— 204 94 2L - =
h 17 -3
h— 4.3 o — |-L€¥%
~ x2 Qo
‘4_.'____._3_ = 142 —
> b
" b)Find the volume of the frustum. : | (4mks

Y= ;ﬂLH~%))4VL.

ij}\uuc@S)lx (TP - 22.bS
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12. Find the sum of eight terms of the series below.

2 +6+18 +________ %LLS’bD)
S5n=— Q (J‘m“' ‘) A
~ - - (9/ b
Sy = ZL}K* ">
S
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2
13. Points A*(2,4), B(3,7) and C(5, 13)
collinear.
3 _2\_ |
) )
_|s '
se=5-3)- [}
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SECTION ‘B’

14.
chord AB is 18cm long.

1

(2mks

are three points. State whether the points are
(3mks

' The circles with centres O; and O, have radii 18cm and 12cm respectively and the

& =97




a)Find the length 0; O,

(3mks

VT | 34~ &)

324 -8 Tes

rft‘*b 7.9 em
|§.bw 0,0 J.9+15b
— | 0,0, = 23.§ery

B)Find the common area between the two intersecting circles. (7mks
>
ﬁﬁ R X 31072 Q7 J’Z%H—‘ﬁé w2
! y = -
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15.  Find the vertices of a triangle defined by the intéTsection of the lines.
Y=x, y—1-=-3, 1 3y—6=2-x (5mks
‘ - 2C XK= 2
X5 33 = - 9= &7 9= 2 :
. x)o \:.)5\ U - - C, |
S>> Jfz1 7]z | ”7 a2 2z
2))12)3)Y4) ] - N ?
J(/z;/'/ 3~ 9= 73X ;
[2[3]¢ S i 5yt % |

x = -3¢+ b

Y-1=-3x+1S Lo =\ b
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b)Find the equations of the tangents to the circle 2 + 2y

to the y — axis.

16) A hopper used in buildin
bottom and a square top of side 2m and 1 m respectively. If the hei

find surface area.

AR =34

2.2RX 4;|£QM

-4x + 2y -10 =0 which are parallel

(5mks

g construction is a frustrum of a right pyramid with a square
ght of the hopper is 1.5m,

(10mks)
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100 kph . Find
a)The time they met. 1
& 240w, W/
— —
= &
gam & 390
qo\emlla, ¥l

QO%){: 4-Sem,
N = Z4o-49
g5 = \qoxmiL,
T lozbha.
lﬁo '
- ‘~02—Mw(\ .

b)How far they met from Nairobi.

yvoo K102 L
= l02.b3
_

@30
o

22t

(6mks

(4mks

17. A motorist left Embu for Nairobi a distance of 240 km at 8 a.m. and travelled at an
average speed of 90 kph. Another motorist left Nairobi for Embu at 8.30 a,m and travelled at

18.  The following are masses of fish in kilogrammes caught by fishermen in one day.

i S——

Mass 0-4 5-9 10-14 15-19 |1 20-24 25-29 30-34 35-39
Noof |2 6 20 12 10 5 6 2
Fish - : :
Using a frequency distribution table find

(4mks

a)Mean
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b)Median (5mks

' 2\ F 1¥2c — -

ryva PR o R ISR 1S 422
O’L;’ ~ L 42' b} ‘ I -
|3 o 240 | =783 5167
-G 17 i (29 '

202422 [10 220 pm-edd o lk‘;l

Sy —29|12F s '32,_

29|33 |2 s O

c)State the modal class ( 1mk

la_:__‘_‘-f:

19.Given y = sin 3x and y =cos %/3x draw their graphs on the same axis for 0 £x £360° (6mks

i)From your graph find:-

a)the period of y = sin 3x (2mks
b)the value (s) of X for which sin 3x = cos ¥/,x (2mks

20.  Solve the following pairs of simultaneous equations

iMx - 2y =3 (3mks
3x +y=-3

L - 23=3
bx +2zgy=""b

o =73

d=— 3>
: Y2

XK— Tp. 3

'O‘C’ 4=
8 — 3409
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TR RO AL Graw an wsorhied diele anﬁst‘am the radius of the circle. (5mks &
T Za+sht =20 € = ’
ba -sb= 1% M= 201
qa = 5% L
= 20 ¢
e M %, (2o % )
3 S i3
_— S ) ©
Y Lza +2x )=
5 L},}: +sb =20 Lx- %
? =~ PP o 7auite '@
Qb +5b = A0 < ¢
5% (b—18 — {0 ¥\S
sb=— 207 &
C] 20 R
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W= 5 3
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